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RANIGANJ LIONS J.D.M.C. D.A.V PUBLIC SCHOOL, RANIGANJ.W.B. 

HOLIDAY HOMEWORK  ( 2023 -24 )  

CLASS : IX  

ENGLISH 
( l )Read the passage and  answer the following questions :- 

Man suffers from a distorted complex. He always considers animals as inferior beings only fit for exploitation. 

Man has been using domestic and wild animals for his selfish ends. Many animal lovers joined together to 

form the ‘Society for Prevention of Cruelty to Animals‘. 

2. The society has been working for the well-being and welfare of animals for many years. Its main aim is to 

change the attitude and thinking of people towards animals. It is quite sad that animals continue to be ill-

treated, tortured and killed according to the whims of the people. About 15% of the people entertain the belief 

that animals are man’s slaves. They use, misuse and torture them accordingly. About 50% of the people exploit 

animals for selfish ends. 

3.Horses and oxen are used for transport, carrying loads and in agricultural activities. Dogs, cats and many 

birds are domesticated for fun, entertainment and convenience. Wild animals like elephants, tigers, lions and 

deer are victims of poaching and killing. Animals are forced to do acrobatic feats in circus shows. 

Unfortunately, about 35% of people don’t think about the animals at all. They are totally indifferent to them. 

4. The Government and the animal lovers must work together to bring a change in the attitude of the people. 

Animals should not be killed and poached for fun, furs or financial gains. They should be treated with 

kindness, care and sympathy. Cruelty towards animals must be legally punished. 

Based on your understanding of the passage, answer the following questions. 

(i) In the line “… fit for exploitation”, the word `exploitation’ does not refer to: 

(a) abuse (b) ill-treatment (c) oppression (d) utilisation 

(ii) Which of these animals are victims of poaching and killing? 

(a) Lions (b) Tigers (c) Elephants (d) All of these 

(iii) For many years, `Society for Prevention of Cruelty to Animals‘ has been working for: 

(a) destruction of 

animals. 

(b) exploitation of 

animals. 

(c) the welfare of 

animals. 

(d) All of these 

(iv) It is very disappointing that animals are still: 

(a) ill-treated (b) tortured (c) killed (d) All of these 

(v) For what activities do people use horses and oxen? 

(a) Carrying loads (b) Transport (c) Agricultural     

     activities 

(d) All of these 

(ll) Read the passage and answer the  following questions :- 

1. Though the Covid-19 situation seems to be under control and the overall positivity rate has remained   

between 0.08% and 0.12% in the past one week, New Delhi has reported the highest positivity rate of 

0.29% among all 11 districts. While North West and South West have reported a positivity rate of 

0.21% and 0.19%, respectively, all other districts have comparatively lower numbers. North East 

district has nil cases and a zero positivity rate. While there is no clear indication of Covid-19 cases 

rising again in the capital, the numbers are rising in some parts of the country. Delhi also needs to be on 

alert because the recent highest positivity rate of 0.12% (85 new cases) over the past 24 days was 

reported on 1st August, 2021. 

2. According to the district-wise performance report, on July 31 Central district reported six cases with 

a positivity rate of 0.09%, East had five cases and 0.08% positivity rate, New Delhi 19 cases and 

0.29%, North seven cases and 0.13%, North West 12 cases and 0.21%, Shahdara two cases and 0.03%, 

South four cases and 0.06%, South East seven cases and 0.11%, South West 15 cases and 0.19% and 

West nine cases and 0.12% positivity rate. All districts are conducting 4,000 to 6,000 tests every day, a 

majority of them being RT-PCR. 

3. A health department official said the positivity rate was far lower than the target of 5% that the 

districts were supposed to maintain. “It’s difficult to pinpoint the reasons behind some districts 

reporting a higher positivity rate than others. Only experts can highlight the causes after a detailed 

analysis,” added the official. 
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4. Officials from the districts reporting higher positivity rates said they were conducting a maximum 

number of tests in places like containment zones, slums, middle-class areas and villages. A government 

hospital doctor involved in Covid-19 management said, “If more tests are conducted in containment 

zones and adjoining clusters and among the contacts of Covid-positive people, then the positivity rate is 

likely to be slightly higher. More tests in super-spreader areas also pushes up the positivity rate. It has 

been observed that more tests conducted in slums and underprivileged areas throw up a lower positivity 

rate. That is why it is suggested to use mixed locations for carrying out the tests.” 

Based on your understanding of the passage, answer the following questions. 

(i) “Though the Covid-19 situation seems to be under control…….”It reveals that the writer: 

(a) is certain and confident about the Covid-19 situation in Delhi. 

(b) is overconfident about his knowledge about Covid-19. 

(c)complains about the Covid-19 situation in Delhi. 

(d) is not certain and confident about the Covid-19 situation in Delhi. 

(ii) “Delhi also needs to be on alert …” What should Delhiites do to being alert? 

(a) They should remain in home as much as possible. 

(b) They should wear mask whenever they go out of their home. 

(c) They should wash their hands with soap and water and apply sanitizer on their hands frequently. 

(d) All of the above. 

(iii) Officials were conducting a maximum number of tests in places like containment zones, slums, middle- 

       class areas and villages. It reveals that the officials 

(a) thought that the posh areas hardly had positive cases. 

(b) thought that these areas were likely to have more positive cases. 

(c) thought that being the poor the people of these areas might have very weak immunity. 

(d) hesitated to conduct tests in posh areas. 

(iv) Which of the following actions of people plays the most important role in controlling and preventing the  

       spread of Covid-19 cases? 

(a) Avoiding people to people contact as much as possible. 

(b) Eating healthy food. 

(c) Washing hands with soap and water frequently. 

(d) Doing physical exercise to boost immunity 

(v) In the line “If more tests are conducted in containment zones and adjoining clusters …” Here the ‘adjoining  

      clusters’ refers to: 

(a) areas which have Covid-19 positive cases. 

(b) the villages nearby a village which has Covid-19 positive cases. 

(c) the areas nearby an area which has Covid-19 positive cases. 

(d) the buildings in which there is a person with Covid-19 positive. 

(lll) Answer the following questions:- 

1. The story" How I taught my Grandmother to Read" is full of moral teachings. Mention any one  

moral teaching this lesson contains. 

2. How did the novel "Kashi Yatre" prove to be a turning point in the life of Krish taka the  

grandmother ? 

3. Discuss the role of the dog Duke played in Hooper's life? 

4. Describe Chuck Hooper's life before and after the accident?  

5.  How is the journey of brook very similar to the journey of life? 

HINDI 

 

1.निम्िनिखित बहुविकल्पी प्रश्नों में से उनित विकल्प का ियि कीखिए :- 

(क) ‘दो बैिों की कथा’ हमें सीि दे रही है --- 

  i.  शत्रु को शत्रु समझिा उनित है    ii. मानिक की सेिा करते रहिा  
  iii. आिादी के निए स्ियं िड़िा    iv. दसूरों के अत्यािार सहते रहिा  

(ि) पाठ में उपखस्थत ‘बनिया का ताऊ’ मुहािरे का अथथ है --- 

  i.  कोल्हू का बैि    ii. बुविहीि व्यवि    iii. बैि का भाई    iv. उपरोि सभी  
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(ग) दोिों बैि को भूिा रिा गया – 

  i.  7 ददिों तक    ii. 14 ददिों तक    iii. 2 ददिों तक    iv. 5 ददिों तक   

(घ) कबीर के निए ‘ह्रदय’ दकसके समाि है ? 

  i. मािसरोिर    ii. मुिा    iii. मुिाफि    iv. हंसा   
(ड.) ‘सूयथ’ को कबीर िे दकसकी संज्ञा दी है ? 

  i.  पे्रम की    ii. भि की    iii. ज्ञाि की    iv. िैभि की  

2. निम्िनिखित प्रश्नों के उत्तर िगभग 25 से 30 शब्दों में निखिए – 

(क) दोिों बैि कभी-कभी सींग क्यों नमिा निया करते थे ? 

(ि) झूरी िे बैिों के प्रनत अपिा स्िेह कैसे प्रकट दकया ?  

(ग) निरपि होकर भिि करिे िािों को कवि िे संत सुिाि क्यों कहा है ?  

(घ) कबीर की सािी में ‘विष’ और ‘अमतृ’ दकसके प्रतीक हैं ?                                                       

3. निम्िनिखित प्रश्नों में से उनित उत्तर िािे विकल्प का ियि कीखिए – 

(I) कथि (अ) – मूिशब्द के अतं में प्रत्यय (शब्दांश) का प्रयोग दकया िाता है I  

    कारण (ब) – तवित एिं कृत प्रत्यय , प्रत्यय के दो भेद हैं  I 
  (क)  कथि (अ) सही है , दकन्तु कारण (ब) गित है I   

  (ि)  कथि  (अ) गित है , दकन्तु कारण (ब) सही है I  

  (ग)   कथि  (अ) सही है और कारण (ब) कथि (अ) की सही व्याख्या है I  

  (घ)   कथि  (अ)  सही है दकन्तु कारण (ब) कथि (अ) की सही व्याख्या िहीं है I  

 

(II) कथि –(A) तवित प्रत्यय सदा संज्ञा ,सिथिाम तथा विशेषण शब्दों के अतं में िुड़कर कताथ िािक शब्दों का    
     निमाथण करते हैं I  
      कारण –(B) ‘भुिक्कड़’ शब्द भी तवित प्रत्यय के अतंगथत आता है I  

               (क) कथि (A ) गित है , परन्तु कारण (B ) सही है I  

  (ि) कथि (A ) और कारण (B ) दोिों गित है I  

  (ग)  कथि  (A ) सही है ,परन्तु कारण (B ) गित है , क्योंदक कारण (B ) कथि (A ) की व्याख्या िहीं  
         करता है I  

  (घ) कथि (A ) सही है और कारण (B ) भी सही है , क्योंदक कारण (B ) कथि (A )की व्याख्या करता है I  

 

4. “दोिों बैि की नमत्रता अिुकरणीय थी” , पाठ ‘दो बैिों की कथा’ के आधार पर स्पष्ट कीखिए I  

BENGALI 

 ১) ব্যাকরণে কখন সন্ধি হয়?  
২) স্বরসন্ধি কখন হয়? 
৩) সন্ধির ব্যাকরে সম্মত প্রচন্ধিত ন্ধনয়ণের ব্াইণর যেসব্ সন্ধি হয় তাণক কী ব্ণি? 
৪) ‘পেযটন’ শব্দটির সঠিক সন্ধি ন্ধব্ণেদ কর। 
৫) ‘প্রন্ধত + অহ’ সঠিক সন্ধিব্দ্ধ পদটি কী? 
৬) ‘অধেেয’ – সন্ধি ন্ধব্ণেদ কণর সঠিক সূত্রটি যিখ। 
৭) “ণচহারা এব্ং ভাব্খানা অণনকটা প্রভুহীন পণের কুকুণরর েণতা হইয়া োয়”-ণকান প্রসণে এই েন্তব্য করা  
    হণয়ণে? 
৮) “ন্ধব্শ্বম্ভণরর এত ব্য়স হইি, তব্ু ন্ধকেুোত্র েন্ধদ জ্ঞানকাণ্ড আণে”- যকন এরূপ েন্তব্য করা হণয়ণে?  
৯) ‘েুটি’ গণে েুটি ন্ধকণসর প্রতীকী রূপ? 
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SANSKRIT 

1. अधोनिखितं गद्ांशं पदठत्िा प्रदत्तप्रश्नािाम ्उत्तराखण संस्कृतेि निित- 

दकन्तु बािस्य अत्र रक्षकः िाखस्त तत ्दकं करोनम? भितु, निरकािपानितम ्इमं पुत्रनिविथशेषं िकुिं बािरक्षायां 
व्यिस्थाप्य गच्िानम। तथा कृत्िा गतः। ततस्तेि िकुिेि बािसमीपम ्उपसपथि ्कृष्णसपथः दृष्टः। स तं व्यापाद् 
िण्डशः कृतिाि ्। अत्रान्तरे ब्राह्मणोऽवप श्रािं गहृीत्िा गहृम ्उपाितृ्तः। ब्राह्मणं दृष््िा िकुिः रि-विनिप्त-मुि-
पादः तस्य िरणयोः अिुठत ्। विप्रः तथाविधं तं दृष््िा बािकोऽिेि िाददतः इनत अिधायथ कोपात ्िकुिं 
व्यापाददतिाि।् 
I. एकपदेि उत्तरत- 

क) कम ्दृष््िा िकुिः अिुठत?् 
II. पूणथिाक्येि उत्तरत- 

क) ब्राह्मणः दकम ्कृत्िा गहृम ्उपाितृः? 
III. निदेशािुसारम ्उत्तरत- 

क) “बािस्य अत्र रक्षकः िाखस्त” - अखस्मि ्िाक्ये दियापदम ्दकम?् 
ि) “तस्य िरणयोः अिुठत”् - अखस्मि ्िाक्ये िरणयोः पदे का विभविः? 

2. अधोनिखित रेिांदकतपदािां सखन्ध ंविच्िेदं िा विकल्पेभ्यः नित्िा निित :- 
i) फिोद्गमैः िम्रास्तरिः भिखन्त।  
   क) िम्रा + तरिः   ि) िम्राः + तरिः  ग) िम्रास ्+ तरिः   घ) िम्रः + तरिः 
ii) रामोऽवप ििम ्अगच्ित।् 

         क) राम + वप   ि) रामः + अवप   ग) रामो + आवप   घ) रामोः + अवप  
iii) तदाकण्यथ बािकः भावितः।  

         क) तत ्+ आकण्यथ   ि) तदा + आकण्यथ ग) तत ्+ कण्यथ    घ) तद् + कणथः  
3. निदेशािुसारम ्उत्तरत- 

क) उ, ऊ, प, फ, ध, ब, म िणेषु कः िणथः ओष्ठौ ि अखस्त? 
ि) रामः इनत पदे कस्य िणथस्य उच्िारणस्थािम ्मूधाथ अखस्त 

4.  भिाि ्सोहिः िात्रािासे िसनत, भिाि ्ि स्िददिियाथविषये वपतरं प्रनत पत्र ंनििनत । मञ्िूषायाः 
उनितपदानि नित्िा ररिस्थािानि पूरयतु उत्तरपुखस्तकायां ि पुिः निितु। 
                                                                  िात्रनििासत: 
                                                                  ददिाङ्कः ------------------ 
पूििीयः (i)------------------- 
अत्र कुशिं तत्रास्तु। मया भितः पतं्र प्राप्तम ्। मम अधथिावषथक परीक्षापररणामः अनतशोभिः अखस्त।      (ii)--
--------------- तु शतम ्अडकाः एि प्राप्ताः । अहम ्(iii) ------------------ पञ्ििादिे उत्थाय पठानम। ततः 
सप्तिादिे नित्यकमथ कृत्िा (iv) ------------------- स्मरानम । सायम ्उदयािे भ्रमणाय अवप गच्िानम। रात्रौ 
भोििस्य पश्चात ्(v)------------------ द्वादश-िादिपयथन्तं पठानम। अहम ्अत्र (vi) -------------------- 
अखस्म । कोsवप (vii) -------------------- मा कुरु, िावषथकपरीक्षायाम ्अवप शोभिैः अडकैः (viii) -------------
---भविष्यानम इनत (ix) ------------------- अखस्त । पूििीयायै माते्र िमः । अिुिाय स्िेहः ।  
                                                             भिदीयः वप्रयपुत्रः (x)------------- 
मञ्िुषा- { वपतमृहाभागः, िििादित:, संस्कृतविषये, ईश्वरम,् आशा, सोहिः, निन्ता, प्रातःकािे, स्िस्थः,   
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         उत्तीणथः} 
 
5. अधोदत्तं नित्र ंदृष््िा प्रदत्तशब्दािां सहायतया पञ्ििाक्यानि संस्कृते निित- 
 

मञ्िूषा- { समूहे, काय,ं संगणकयन्त्रम,् वििारविमशथम ्, आसखन्दकां, कुिथखन्त, सह, उपविशखन्त, कके्ष 
         मञ्िके, प्रसन्िाः, दृश्यन्ते, मदहिाः, कायथरताः, नम 

MATHEMATICS 

 

1. Give an example for each if two irrational numbers whose 

i) difference is a rational number              ii ) sum is an irrational number 

iii) product is a rational number                 iv)  quotient is an irrational number 

2. In the following equations, find which of the variables x, y and z represent rational numbers and which  

    represent irrational numbers 

i) x2 = 5                             ii) y3 = 27                          iii) z2 = 0.4                                  iv) x4 =64 

3. Arrange in the ascending order:    

√4
3

           √5
4

         √3 

4. select the correct answers : 

    Common factors of x3 – x2   and   -22x2 + 142x -120 are          

A. x          B. x – 1        C. x2         D. 1 

5. Polynomial is divided by x-1. The quotient obtained is 3x3 – x2 – x – 4 and the remainder is -5 . which    

   polynomial  meets this conditions? 

A. 3x3 – x2 –x -9              B.  3x3 – x2 –x -4            C. 3x4 – 4x3 –3x + 4            D. 3x4 – 4x2 –3x -1             

6. Subject Enrichment Activity: 

Draw a colourful design by constructing a square root spiral taking up to √10 

             ( Use interleaf practical pages for writing the answers of Q. No. 1 to 6 and SEA activity) 

7. Draw a mind map of the chapter 01 – Number System. 

 ( Use 1/4 th coloured chart paper and make it colourful) 

SCIENCE 

1. The speedometer readings of a car are shown below. Find the acceleration of the car and its displacement. 

Time Speedometer 

9:25 am 36 km/h 

9:45 a.m. 72 km/hr 

2. Two stones are thrown vertically upwards simultaneously with their initial velocities u1 and u2 respectively.  

     Prove that the heights reached by them would be in the ratio of  (u1)
2 : (u2)

2 
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3.  Study the speed-time graph of a body given here and answer the following questions:  

 

 

(a) Find out the acceleration and 

retardation  of the body. 

(b) Find out the distance travelled by 

the body from A to B. 

 

 

 

 

 

 

 

4. A glass tumbler containing hot 

water is kept in the freezer compartment of a refrigerator (temperature <0°C). If you could measure 

the temperature of the content of the tumbler, which of the following graphs would correctly 

represent the change in its temperature as a function of time(minute)? 

 
 

5. Melting point is the temperature at which a solid becomes a liquid at normal atmospheric 

pressure,Where as  the temperature at which the vapor pressure of the liquid equals the pressure 

surrounding the liquid and liquid change to vapor is boiling point. (and vice versa). 

                 The temperature-time graph given alongside shows the heating curve for pure wax. 

 

From the graph answer the following: 

(a) What is the physical state of the substance 

at the points A, B, C and D? 

(b) What is the melting point of the substance? 

(c) What is its boiling point? 

(d) Which portions of the graph indicates that 

change of state is taking place? 

(e) Name the terms used for heat absorbed 

during change of states involved in above 

process. 

 

 

 

 

 

 

6.  
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a)Identify A and B. 

b) What will happen if B cells are kept in hypotonic solution? 

c) What will happen if A cells are kept in hypertonic solution? 

7. What will happen:- 

a) Excess amount of fertiliser is added to green grass lawn? 

b) Salt is added to pieces of raw mango? 

8. Draw a well labelled diagram of chloroplast. 

SOCIAL SCIENCE 

A.   TICK THE CORRECT OPTION: 

1. Assertion (A): Faced with the power of his revolting subjects, Louis XVI finally accorded recognition 

to the National Assembly and accepted the principle that his powers would from now on be checked 

by a constitution.  

    Reason (R): On the night of 4 August 1789, the Assembly passed a decree abolishing the feudal 

system of obligations and taxes. 

(a) Both Assertion (A) and Reason (R) are true and R is the correct explanation of A. 

(b) Both Assertion (A) and Reason (R) are true but R is not the correct explanation of A. 

(c) Assertion (A) is true but Reason (R) is false. 

(d) Assertion (A) is false but Reason (R) is true. 

 

 

2. Which one of the following option best signifies this cartoon?    

(a) Democracy strengthened by military. 

(b) Democracy restored by military. 

(c) In democracy rulers often use guns/power to remain in power. 

(d) Democracy always comes in country when guns/power is used. 

 

 

3. Assertion (A): India has 28 States and 8 union territories.  

    Reason (R): As on 2019 Jammu Kashmir and Ladakh became two different union territories and as             

on 2020 the Dadar and Nagar Haveli and Daman and Diu become a single union territory of India.     
(a)  Both Assertion (A) and Reason (R) are true and R is the correct explanation of A. 

(b) Both Assertion (A) and Reason (R) are true but R is not the correct explanation of A. 

(c) Assertion (A) is true but Reason (R) is false. 

(d) Assertion (A) is false but Reason (R) is true. 

 

4. Tropic of cancer passes through the state of _______________________. 

(a) Orissa 

(b) Tripura 

(c) Bihar 

(d)  Punjab 

 

5. Assertion (A): The large and medium farmers of Palampur sell their surplus grain in the market. 

    Reason (R): Surplus is the excess of consumption over production. 

(a) Both Assertion (A) and Reason (R) are true and R is the correct explanation of A. 

(b) Both Assertion (A) and Reason (R) are true but R is not the correct explanation of A. 

(c) Assertion (A) is true but Reason (R) is false. 

(d) Assertion (A) is false but Reason (R) is true. 

 

B. ANSWER THE FOLLOWING QUESTIONS: 

1. Trace the peculiarity of the dress worn by the members of the Jacobin Club. 

2. Identify the famous personality and write the title of the most popular book written by him. Analyze 

the theme of the book. 
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3. Suppose you are Raja or Rani living in West Bengal. You were talking at 5. 30 p. m. over phone with 

one of your friends living in Mumbai. When sunset occurred in your region, she was saying in 

Mumbai till it is daylight found. Analyse the reason behind it. 
4. India’s land route has been more important since ancient time then it’s maritime route.  Justify the 

statement. 

C. Read the passage and answer the questions that follow: 
1. Democracy is considered to be the best form of government. It has rightly been said that it is a 

government of the people, by the people and for the people. People elect their own representatives 

who run the government. All citizens after attaining a certain age are granted the right to vote. In 

India, this age has been reduced to 18 so that the maximum number of young men and young women 

take an active part in politics. But it has brought responsibility also. Now we have to see that everyone 

makes proper use of his vote. 

 

a. Why is Representative Democracy so called?  

b. Why are decisions in a democracy qualitatively superior?  

 

2. Tools, Machines, Buildings: Tools and machines range from very simple tools such as fanciers plough 

to sophisticated machines such as generators, turbines, computers, etc. Tools, machines, buildings can 

be used in production over many years, and are called fixed capital. 

Raw Materials and Money in Hand 

Production requires a variety of raw materials such as the yarn used by the weaver and the clay used 

by the potter. Also, some money is always required during production to make payments and buy 

other necessary items. Raw materials and money in hand are called working capital. Unlike tools, 

machines and buildings, these are used up in production.  

A small farmer has 2 hectares of land to cultivate wheat crop his land comes under which type of 

factor of production?  

 

a. Mr. X cultivated a land. He gathered the factors of production together, where he found that he 

needs three tractors. In this context, state four basic fixed capital that Mr. X needs for production. 

b. Evaluate the significant distinction between fixed capital and working capital.  

 


